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QUESTION 1

When processing the following "XML Document" according to the method shown by "DOM Processing," which of the
following correctly describes the output results (print method output)?

[EML Documesnt]
<docr<oontent>Today' s<boldx>"hot"</boldrnews</content></docx>

[DOM Processing]
Progesza XML using the rfollowihg method.
printXML | doc )
The wariable doc here references the Document instance of the loaded XML Document.
Lzzure no execution Brrors.

publoc static void printZML | Docwumwent doc )

Element content = [(Element)doc.getlDocumentElement () .gecFirscChildl()
NodeLi=st nl = content.getChildiNodes() ;
System.out.print{ nl.geclengthi)l ):
Elewent hold = [(Element)content.getElensntsByTagare [ "hold™ ) .item(0) ;
content ..removechildl bold ):
Svstem.out.print( nl.getLengthil :
¥

B. 43

C.42

D. 33

E. 32

F.31

Correct Answer: E

QUESTION 2

Which of the following fault codes is defined in SOAP specification 1.1? (Multiple answers possible. Select two.)
A. MustUnderstand

B. RequiredElement

C. Server

D. SyntaxError

Correct Answer: AC

QUESTION 3

Assume that the "XML Document" is changed to the "Results XML Document." Select which XSLT style sheet correctly
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performs the transformation. Note that the XSLT processor can output transformation results as a document. [Results
XML Document] Imnop

A

[exam.xsl]

B. [exam.xsl]
C. [exam.xsl]
D. D. [exam.xsl]

Correct Answer: A

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document".

[ZEML Document]

<Lizt xmlna="urn:=mlmaster:LIST">
<Datex2004-07-01</Datex
<Worker Name="Jeff Workman™

xmlns="urn:imlmaster : TOREKER" />
<VisitList>

<hctivity xmlns="urn: xmlmaster :VISIT™
Code="0001"=>

<DateTimex>2004-07-01 02:00</DatelTime>
<Job Proceduse="Instcall freezer” Time="z" /»
£Atatuss>MAITING</ Statusy
</ Botivotyx
</ WigitLists
</Liary

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Although the expected processing result is choice "D", processing may not occur as expected.
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[DOK Processing]
Proces=s XML using the following method.
LCocumwent output = createXdL( doc, imp. |:
The wariahle fdnr here refrreaces the Tincument inatance nf the Toaded ML Dinearnent .
The wariasble impl here references the DOAImplementation instance.
The DOM parser is nawmesSpace aware.
b==umwe no execution errors.

public static Document createXML{ Documwent doc, DOMInplementation impl ) 4
String code = "TOOO1%:
Document output = impl.createlocument |

farn:xmlmastcer: EEFORT™, "Eeport®™, null);
Element root = output.getlhocumentElement () »
Element =rc = [(Element)doc.getElementsEyTaghizmmaells |
furn: xm_master :MOREEER™, "Worker™) .itemi(0)] ;
rcot.appendChild {output. importlode (sre, true));

NocdelLizst nl = doc.getElemeatsEyTagNamell3 [ "urn: xmlmsster it VISITY, "hotivitcy™):
fcr (int 1 = 0; 1 < nl.getiengthi(): i+-) |

grc = [(Element)nl.item(i;
if (code.equalzs(src.geti-tribute ("Code™))) |
Element elem = ([(Elemenz)output.importiode (src, true);
root.appendChild(elem) :
Element status = [(Elewent)elem.getilementsBEyTacName [
f2tatusa™) .item(0) ;
status.getFirscChild () .zetModeValue ("COMFLETED™) ;
break:

H
H

return output;
}

A.

B.

C. C.C. COMPLETED

D. D. 2004-07-01 09:00 COMPLETED

Correct Answer: D

QUESTION 5

When receiving an XML document following the DTD defined by NewsML (portions modified for this question), the
document is processed via SAX programming.
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[DTD]
<!ENTITY % localid "™ Duid ID #IMFLIED
Euid CDLTA H#IWNFLIED":

< !ELEMENT MNewaldentifier (NewaItemlId .,
Eewvizionld) >

<!ELEMENT MNewsltemId (#PCDATAL) >

< !ELEMENT RewvisionId (#PCDATA) =

SIATTLIST RewvisionlId Update CDALATL #HREQUIRED >

< !ELEMENT Identification ([MNewsIdentifier):»
<!ATTLIST Identification Ilocalid; >

< !ELEMENT HNewzItem (Identification)>

< VELEMENT NewsML [(MewsItemt) =

Push the Exhibit Button to load the referenced "DTD". When processing the following "XML Document” according to the
method shown by "SAX Processing," which of the following correctly describes the output results (print method output)?
Note that the attribute value is not output for this question.

[¥ML Docwment]

The root element name [(document element name) is "NewsML".

The XML document follows the "DTD" definition.

The XML Document has no document type declaration.

The ZML Document iz comprised of elements, attributes and character dats; comments and CDATL secions, etc. are not
ineluded.

The ZML Document is indented, and includes ignorsbhle white spaces such a=s line feeds and tabs hefare the start-tags.

[S4X Processing]
Use the following "ContentHandlerImpl"™ class, and parse the EML Document using 34X,

Assume no eXecution Errors.

clasz ContentHandlerImpl extends DefaultHandler |
private String elementlagune = "'

public volid star-Element |
String newessaceURI, String looslllswe, String offsans, Attributes stt=)
throws SAXException {
elementName = glame;
F

public vwold endElement |
String nawessacelURI, String localllawe, String oilsme)
throws S3A¥XException {
elementMame = "7}
3
public woid characters(char[] ch, int start, int length)
throws SiXException {
if ([ elewentNeme.equals("") == falae | {
System.out.print (new String(ch, start, length)):
i

b
F

A. All character data of elements can be output, ignorable white spaces are not output

B. All character data of elements can be output, and ignorable white spaces are also output
C. A portion of character data of elements cannot be output

D. No character data of elements can be output

Correct Answer: B
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